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QUESTION No : 2 

ANSWER: 

(part a) 1: The diagnosis of corona virus occurs through a special PCR known as RT- PCR.it is nuclear derived technique through which the corona virus can be found in even a small sample from the patient and it allows for the rapid detection which is vital to limit the spread of corona virus. Originally in this method radioactive isotop markers are used to detect target genetic materials , more frequently fluorescence dyes are used now a days.

2: specimens collection from throat , nasal nasopharyngeal , sputum, and bronchial fluids.

RT - PCR are used in expression profiling to determine the expression of gene. it is also used to identify the sequence of RNA transcript including transcription start and termination sites.

(part b) RT- PCR can be carried out by one step RT - PCR or two step RT- PCR protocoles .

1. One step RT- PCR take mRNA targets and subjects them to reverse transcription and then PCR amplification in a single test tube. 
2. Two step RT- PCR, as the name implies , occure in two step first the reverse transcription and then the PCR.
(Part c) use:

1. N95 mask 
2. lab coat 
3. hand washing facilities such as sanitizers
4. gloves
5. Avoid noes , eyes during experiment 
6. protection of eyes through lab goggles
7. head cover 
8. footwear
9. wastes should be thrown to dustbin or bin 
10. Avoid eating or drinking or smoking in the particular area of the lab where the experiment occurs. 
All procedure should be performed in the way that minimize the formation of aerosols and droplets mouth ,pipetting must be strickly forbidden or prohibited.All those infection items which can cause splashes, droplet or aerosols is to be manipulated use of BSCs ( mainly class ll BSCs should be considered to protect work surface material as well as to protect him/ her self and environment. 
QUESTION No : 3 

ANSWER  :

(part a) The function of TAQ polymerase enzymes is to produced multiple copies of DNA in PCR we used TAQ polymerase because of heat tolerant so it can work at high tempreture. 

(Part b) loading dyes is mixed with DNA samples for use in gel electrophoresis  , dyes generally shows us how fast our gel is running while agarose gel  separates DNA fragments at a specific size.

(Part c) primary antibody it is an antibody which is directly attached or blinds to the antigen the region of primary antibody recognizes the epitope on the antigen. 

(Part d) blotting paper is used in southern blotting for finding the specific DNA fragment 

OR  It is a hybridization technique for the identification of specific nucleic acid and gene and it is mainly used during different stages of gene expression ( RNA , DNA).

QUESTION No 1 : 

ANSWER  :

(Part a) 

1. most people are diagnosed with CML through blood test known as CBC complete blood count. CBC is done for a regular cheakup and in CML it is used for WBCs finding because CML patients have high number of WBCs platelets count.
2. bone marrow aspiration and biopsy it is a process or procedure in which a hollow needle is inserted in the hip bone and reached that needle into bone marrow and collect a sample for the diagnosis of CML.
3. A CT scan can show if any lymph nodes or organ in your body because enlarged
4. MRT is mainly used for brain and spinal cord .
5. ultrasound is used to see for your abdominal area such as kidney, liver and spleen .
6. imaging test which is not usually needed but sometimes it is important to take picture of your liver and spleen for enlargement. 
7. PCR in CML is used to look for the BCR - ABL genes in leukemia cells.
8. FISH test is used for chromosomal study ( BCR - ABL genes)
9. genetic test. 
10. bllod chemistry test.
11. conventional cytogenetics (PH positive).
12. bone marrow test .
13. immunological marker ( CD13 + , CD15+ , CD33+ ).
14. biochemical finding. 
( Part b) The main cause of CML is to unknown but it is believed that it is caused from the genetic mutation , during the swapping of DNA between the chromosomal  ( 22 and 9 ) lead the formation of genes which is known as BCR- ABL .Now this gene produced a specific protein called tyrosin kinase , this protein cause CML cell to grow and divide it out of control as a result CML occure.

(Part c) Philadelphia occur due to the translocation or swapping of chromosome (22 and 9) respectively so , it means that it is mutation which occures due to abnormal chromosome whichis not inheritable but a small amount of BCR - ABL oncogene are present in CML patients which may or may not inherited to their child or offspring sample use can say that it is a somatic mutation which is not inheritable to offspring. 

( THANK YOU)
